2M-SERIES LHE.W(S)

KAMPERS

PUMPS

SERVICE

KAMPERS 2M-series LHE.W(S)

SHORT BUILD

HORIZONTAL

DIESEL

i

=

ELECTRIC

S EROL

HYDRAULIC EXT. BEARINGS FLANGE ARR. L

KAMPERS 2M-series LHE.W(S) is a robust pump with a welded
casing. It has an interchangeable liner allowing in-situ
reconditioning and an even wider choice of materials than
casted pumps. Welded casings also make supersizing of pumps
possible, extending the range to capacities of 2000 m3/h or
even more in the future. It is designed for both corrosive (LHE.
WS) and non-corrosive (LHE.W) non-lubricating fluids. It is
suitable for applications that allow the use of single seals. It is
constructed horizontally with flanges in L-style and discharge
on top. It has an integrated pressure relief valve. A partly or
fully heated casing and relief valve are optional, making it an
appropriate pump for heated fluids.

The LHE.W(S) is designed to operate in applications where
casted pumps meet their limits. It is installed in both tank
storage and many branches of industry, as well as shipping. It
is self priming and can handle limited dry-running.

- Extended capacity range 2-2000 m3/h

= Medium pressure range max 25 bar

- Low temperature range <120°C

- Wide viscosity range 0,6-100.000cSt

- Single sealing

-+ Horizontal with L-style flanges

« Full heating options: Jacket or full body

= Pressure relief valve integrated

- Executions for corrosives and abrasives available



2M-SERIES LHE.W(S)

Heating Flange

Oil Inlet »
R5
W5 i
’(\EAqooa;c fnlet Vacuum Gauge Discharge
ik_ Connection R4 ws ‘
I \ |
i A
— —- N
= 7:E'JZL1: 2% Manometer
Pl o .
Oil Outlet .
| uROG . T| Suction
=
- |
Casing Drain
R1
4_.@
T

——
£ Et
Heating Flange
W3 N\ SxZ

W6
2

‘ Wo

Suction Flange Discharge Flange Heating Flange

ing notice. © Copyright of KAMPERS pumps & service whose property this documentation remains. No part thereof may be disclosed, copied, duplicated or in any other way made use of, except with the approval of KAMPERS pumps & service, Puttershoek (The Netherlands).

MLHEW(S)
ALLUA0N1 [D1 (K1 Jd1 [s1 {21 J1 JoN2[D2 [K2 [d2 |s2 (22 [ JoON3[03 [K3 ]d3 [s3 |23 [ G ]
82 080 0200 G160 G132 8 018 24 080 0200 0160 0132 8 @18 24 025 0115 085 065 4 Q14 16
98 0100 6235 0190 0156 8 022 24 0100 0235 G190 0156 8 @22 24 025 0115 085 065 4 Q14 16
14 0125 0270 0220 0184 8 026 26 0125 0270 0220 0184 8 026 26 G25 115 @85 065 4 014 16
140 §150 0300 0250 6211 8 @26 28 G150 0300 0250 G211 8 G26 28 G25 115 @85 065 4 014 16
166 0200 375 0320 0284 12 030 34 0200 @375 @320 @284 12 @30 34 025 0115 085 065 4 Q14 16
206 0250 0450 0385 0345 12 033 38 0250 G450 385 @345 12 @33 38 025 0115 085 065 4 @14 16
268 0300 0485 0430 0389 16 030 34 0300 G485 G430 389 16 @30 34 025 0115 085 065 4 Q14 16
280 0400 0620 0550 0503 16 036 40 0300 @515 G450 G409 16 @33 42 025 0115 085 065 4 Q14 16
335 0400 0580 0525 0480 16 030 32 0400 @620 @550 @503 16 @36 40 050 0165 G125 099 4 G018 20
pINTETATS] OUTLINE & INSTALLATION DIMENSIONS HEATING, LUBRICATION & DRAIN DIMENSIONS
ALLrA10 Lo (L1 12 13 [13 Jwo [W1 w2 w3 [Wa |Ws W6 [H1 [H2 [H3 [H4 |s [z Jd [14 |B [t Jis [W7 |8 [W9 [H5 [H6 [H7 R1_R2 [R3 [Ra [R5 _[R6 | ko] Ky ]
82 590 618 300 220 1845 1985 275 300 260 200 285 270 335 325 265 18 600 4 014 022 50 6 245 50 185 8 230 74 170 66 Rpl/4 Rl Rpl/4 Rpl/4 M14x15 M4« 151 162
98 705 735 350 250 228 243 315 340 280 190 330 330 385 315 275 20 675 4 018 028 60 8 31 70 200 160 175 74 182 67 Rpl/4 Rcl/2 Rpl/4 Rpl/4 M14x15 M14¢15 20 253
14 808 844 405 290 267 285 365 390 340 260 380 375 435 365 300 20 780 4 g18 @32 80 10 35 80 240 150 225 74 185 66 Rpl/4 Rcl/2 Rpl/4 Rpl/4 M14x15 Mi4x15 320 38
140 900 936 475 360 275 293 375 480 420 320 400 391 54 400 320 25 800 4 g3 042 80 12 45 70 280 182 278 73 235 73 Rpl/4 Rcl/2 Rpl/4 Rpl/4 M14x15 M14x15 450 485
166 1080 1120 580 450 332 352 472 550 475 380 502 505 64 450 340 30 990 4 @27 @48 110 14 515 75 314 154 370 68 270 63 Rpl/4k R1  Rpl/4 Rpl/4 M20KLS M14x15 75 825
i 206 1250 1298 694 530 373 397 510 660 570 440 545 545 80 530 410 36 1130 4 @33 060 120 18 64 190 380 260 390 65 300 60 Rl Rl Rpl/4 Rpl/4 M20KLS M14x15 1180 1265
T 268 1276 1324 694 530 37253965 645 760 660 540 680 685 95 600 470 40 1280 6 @30 060 120 18 64 190 430 200 400 80 435 70 RG/4 Rcl/2 Rpl/4 Rpl/4 M20KLS M20X15 1430 1545
g 280 1467 1515 775 600 443 467 690 850 750 570 730 730 100 660 540 45 1440 6 033 075 140 20 795 200 465 311 425 100 390 90 Rcl/2 Rcl/2 Rpl/4 Rpl/4 M20X15 M20K15 220 370
2 335 1782 1830 860 680 541 575 835 920 800 660 900 960 1225 950 750 45 1870 6 @33 090 170 25 95 200 540 350 520 150 410 135 R Rl Rpl/4 Rpl/A M27X15 M27X15 3560 3730
* LHE.WS execution (bronze/stainless steel). | All di ions are in mm unless stated otherwise.
Information
Should you like to receive
3 more information or a KAMPERS pumps & service PO box 5401 T +31786760610
5
o . .
s quotation, please do not Oosthavenzijde 5 NL-3297 ZG Puttershoek F +31786761149
2 hesitate to contact us. NL-3297 LD Puttershoek The Netherlands E info@kamperscom  www.kampers.com



